O MARLRERR - N2 (FAI=E)

(87 : M)
FRI=ET & ARG R L REER Nz TRELEATR KEIN
ERERRRFRIZET 11,310,530 11,091, 538 218,992 0 218,992
BB R RI=E 349, 966 306, 385 43, 581 0 43, 581
LupsyEITRR R S IS Py 100, 869 93,374 1,495 0 7,495
BT i X EEE IR Bl =Et 124,982 471, 408 253,574 0 253,574
IERRETBI=ET 13, 420, 845 12, 860, 315 560, 530 0 560, 530
=AM X M EEERFRIRET 108, 829 5,879 102, 950 0 102, 950
‘ESE ERE e 1,520, 788 1,510, 803 9,985 0 9,985
(B7 : M)
FERERRETR LGRS His e A TGS
KEFERET 2,962, 600 2,789, 634 172,966
LEZVISEE E S o) 24,553 18,317 6, 236
TKERERE 3,343,165 3,142, 382 200, 783




